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public static void main(String[] args) {
System.out.println("Hello World!™);
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Hello.java

01 public class Hello {

02

03 public static void main(String[] args) {

04 (System.out.println("Hello World!"); },\ O[ 70| Aolel g2
05 } lgste Ao

06 }
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Hello.java

01 [,

02
03
04
05
06
07
08
09
10

11

x A U ofx Z2a M43 BT
* @version 1.0 2015-08-01

* @author =Z4=

public class Hello {

public static void main(String[] args) {
System.out.println("Hello World!");(// "Hello World!"E =
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Hello World!
I’m a new Java programmer.
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SOLUTION

gAIT Hello.java T
01 public class Hellol

02 public static void main(String args[]) {

03 System.out.println("Hello World!");

04 System.out.println("I’m a new Java programmer.");
05 }

06 }
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. byte, short, int, long

. float, double

: boolean

. char
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byte
short
int

long

float

double

boolean

char

-128%FE 127

-32768F E]

true, false
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32767

of 219/ FE 21 JFA]
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SOLUTION

AreaTest.java

01 public class AreaTest {

02 public static void main(String args[]) {
03 double radius, area;

oj

05 radius = 5.0;

06 area = 3.141592 * radius * radius;

07 System.out.println("#2| HAHZ " + area);
08 }

09 }
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BooleanTest.java

01 public class BooleanTest {

02 public static void main(String args[]) {

03 boolean b; boolean?i

ol CE falseQtd It
05 b = true; & X

06 System.out.println("b : " + b);

07 b=(1>2)3

08 System.out.println("b : " + b);

09

10 }

11 }




VarinitTest.java

01 public class VarInitTest {

02 public static void main(String args[]) {

03 int ‘index; 2703k 62 %

04 HEZ AT '
05 index = index + 1;‘////—5*_—’///

06 System.out.println("index : " + index);

07 }

08 }

A 2F: The local variable index may not have been initialized
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int  _count; // _2 AEE o UCH

long $value; /] $2 A|EHEH £ lCt

int Et=3= /] SLZEE X522 32 v o|2EL Jts
int  Henry8:; // W HSO0| of-2lH At @& 5 RUCE

AZE e AdY A= os57 2.
int  1stPrizeMoney: // ZHZA[7} <A
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final double Pl = 3.141592
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o600te =2 ZZ0IHZ Beols T2 &Y

© KM-PER-MILES| Bi&t=Xl= 1.609344

oIS &2 =82 MH0le T2 )8 &4
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Solution

AT W Constant.java

et i:” 01 public class Constant {
! o2 public static void main(String[] args) {

03 final double KM_PER_MILE = 1.609344;\

04 double km;

o F e finalg FOlM BB A LEHE
oubte mile = 59.9; INERET HolBtn Tt

06 km = KM_PER_MILE * mile;

07

08 System.out.println("600iM2 " + km + "ZZ0|HLICE.");

09 }

10 }

600IY2 96.56064Z=0|EL|Ct,
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X=X +06«

1k X = 3;

\
kg, TAIKETELE, ";/,\‘

y =X * X - X + 63
system.out.println(y);
/

T2 2-2 - 2l of
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int x =1,
inty =1,
y = xt++t,;

System.out
System.out

o &=

printin(x);
printin(y);
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LogicalOperator.java

01 public class LogicalOperator {

02

03 public static void main(String[] args){
04 int x = 3;

05 int y = 4;

06 System.out.println((x == 3) && (y ==
07 System.out.println((x == 3 || y == 4))
08 }

09 }
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Solution

QuadraticEq.java .
01 public class QuadraticEq {

02

03 public static void main(String[] args) {
04 double b = -3.0;

05 double c = 2.0;

06

07 double disc = b x b - 4.0 x c;

08 double sqr = Math.sqrt(disc);

09

10 double r1 = (-b + sqr) / 2.0;

11 double r2 = (-b - sqr) / 2.0;

12 I

13 System.out.println("&2 " + rl);

14 System.out.println("22 " + r2);

15 }

16 }
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